V“ CAA
«?ﬁ\i’(‘ls and Bases Exam Review N w 23}:6

. . . +1 _ _4‘? .
1) What is the pH of a solution with an [H'] 1077 Is it

acidic or basic?
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2) What is the pﬁ' of a solution with an [OH] = 6.56Ex i 0'!2? Is 1t

acidic or basic?
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3) What is the pH if the pOH is 8.4? Is it acidic or basic?
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4) What is the [H'] if the pH is 5 Is it acidic orbasic?
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5) What is the [OH] i‘7 Isvit acid'i'é%?basic? V“
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6) What is the [H'] is the pOH is 1%:2 Is it acidic or basic?
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7) What is the [H'] is the [OH] = 5.65 x 1072 Is it acidic or basii'?
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Acids and Bases: A summary
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Which picture below correctly describes the behavior of a strong

acid? dO=HF acid cﬁv O\ q d AS wN\Y \
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Indicators - what color each indicator would turn for the following

pH values?
A X v W \74
pH 4.2 1.9 11.8 | 7.00 14.0
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Theories of Acids and Bases “wa“ ’ \050, "'“-vn uwv*e
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Bronsted — Lowry

Acid: Hydrogen ion O\W\W Base: Hydrogen ion Mﬂ?‘br

UeyheAcid NG
Label as Acid, Base, CA, CB
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RICE DIAGRAMS
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A_0.500M solution of a weak acid, HCN, 1s only partially 1onized.
The K is 6.2 x 10 for this acid.
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The weak base, NH; has a k@of 1.8 x 10™. Calculate the pH of a

0.35 M ammonia solution. =~ — \m\g‘ﬂ\{ W Cow )= 0,005 M/
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What is the [H']24.0 XI0 M

What 1s the pH? ‘ ‘ ﬂo
What is the pOH? Z b0
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